
UM - 2



 

A B D

E F G H

I J K

L

O

NM

C

P

Q

Q

1

O

 

It
e
m
s 
in
cl
u
d
e
d

M6X35M6X12

Black Spacer

M8X16 M8X40

M10X50

Square spacer 
M8 & M6

 

M5X12 M5X30

Iron Spacer

Left Monitor Bracket

Wall Plate (x1)

Concrete anchor 
M8 X 50

M8 X 70 outside 
the hexagonal

 

Right Monitor Bracket

ATTACHING THE GUSSET IN THE WALL PLATE

Spacer M10 
Spacer M8

M4X12 M4X30

Gusset

nut 1/4 ''

Attach the gusset at the 
wall plate with nuts (Q)



 

2

3

L

L

M/N

O

P O

 

NOTE:
When attaching the mounting 
screws to the display, make 
sure the direction of Brackets 
is right and ensure that both 
brackets are vertically aligned

Recessed mounting 
holes.
 
If the mounting holes 
are recessed into the 
back of the display, use 
the supplied spacers to 
pack the recessed hole. 

MOUNTING THE DISPLAY 
BRACKETS

BACK OF 

DISPLAY

MOUNTING THE WALL PLATE

Mansory Wall

Note: Ensure the Wall 
Plate in mounted with 
the folded tabs pointing 
upwards

Timber Stud Wall

Note: Ensure the Wall 
Plate in mounted with 
the folded tabs pointing 
upwards�OR�

TIPS: Use a spirit level to ensure the Wall Plate is horizontal

Mounting screw



 

 

 
 

 

 
 

 
 

4

5

With the Brackets attached 
to the display,   lift the 
display and   hook the 
brackets onto the Wall Plate

as shown.

 

ATTACHING THE DISPLAY TO 
THE WALL PLATE

Note: This procedure will require two persons

Note:   For demonstration purposes, the wall 
has been omitted from the above images.

�

SECURITY OPTION Note:   For demonstration purposes, the wall has been 
omitted from the above Images.

#
Can be adjusted freely


